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QUESTION 1

Which three statements are true when you want to view queries? (Choose three.) 

A. You can view all public queries, and private queries that are in your list of queries. 

B. If you want to run queries that are not saved in PeopleSoft Query, you can use the Run page in Query Manager. 

C. Query Viewer is a version of Query Manager. It has the same functions, but in a different view. 

D. You can run a predefined query from your browser and view it online using any of the following links on the Query
Manager search page: HTML, Excel, or Schedule. 

E. If you want to run multiple queries and run each query multiple times with different run-time prompt values, the Run
page is more useful than the HTML, Excel, or Schedule links on the Query Manager search page. 

Correct Answer: BDE 

 

QUESTION 2

Examine this PeopleCode snippet: 

class OCP_ROWSET extends Rowset; 

property integer FilledRowCount get; 

method OCP_ROWSET(andstrRecName As string, andstrDataFld As string, andstrGetOrCreate As string); method
InsertRow(andiRow As integer) Returns boolean; 

Select the correct statements. (Choose all that apply.) 

A. OCP_ROWSET is the constructor method for the OCP_ROWSET class. 

B. Executing the RO_ROWSET method instantiates an object of the OCP_ROWSET class. 

C. The OCP_ROWSET method runs automatically whenever an object is instantiated using the OCP_ROWSET class. 

D. The OCP_ROWSET method must initialize the ROWSET class. 

E. The OCP_ROWSET method is added to the ROWSET class, and, by extension, to any instances of the ROWSET
class. 

Correct Answer: ACD 

 

QUESTION 3

View the Exhibit. 

This PeopleCode program uses a SQL Update to modify PSOPRDEFN, a table that is not in the component buffers. 

You want to be certain that this update will occur only if the entire component buffer is successfully written to the
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database. In which event or events should the program be placed? 

A. SaveEdit 

B. SavePreChange 

C. SavePostChange 

D. FieldEdit and SaveEdit 

E. SaveEdit and SavePostChange 

F. SavePreChange and SavePostChange 

Correct Answer: C 

 

QUESTION 4

Select three changes to a record definition that require you to rebuild the SQL table. (Choose three.) 

A. You change the label of a key field. 

B. You deselect the Search Key check box (only) for a field. 

C. You change the length of a non-key field. 

D. You deselect the Alternate Search Key check box. 

E. You change an ascending key to a descending key. 

Correct Answer: CDE 
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QUESTION 5

Select the correct use of the MsgGet function. 

A. MsgGet("Text"); 

B. Error(MsgGet,"Text"); 

C. Error MsgGet(1040, 3, "Text"); 

D. Error MsgGet("Text", 1040, 3); 

E. MsgGet(Error, 1040, 3, "Text"); 

F. MsgGet(Set = 1040, Message = 3, Error, "Text"); 

Correct Answer: C 
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